<& NAN YA PLASTICS CORP.
PLASTPRO INC.
DISTINCTION SERIES ] o

OPAQUE FIBERGLASS DOOR
INSWING / OUTSWING 2 B
"IMPACT" | P

GENERAL NDTES

| This product has beer: evaluated and is in comphance with the 2007
Forida Building Code (F8C) structurcl requirements gxcluding the
“High Velocity Humicane Tone" (HYHE|.

| | s nm

— 82.00" MAX, O.A. FRAME HEKGHT - INSWINC
e B0.37" MAX, O.A. FRAME HEIGHT OUTSWING

EWIDTH

i —— ———

2 Product anchors shal be as listed and spaced as shown on detais. 1 = ""'T" ey
Anchor embedment 1o base moterial shai be'beyond wal dressing I
or siuceo, : i W 1 i
B i Ig
3. When used in areas requiring wind dome debiis protection this il ; | |
oroduct complies with Section 1607.1.2 of the FBC and does not . (. {1 i ,_
require on mpact resistant covering. This product meets missiie level z |§ i e i
0 and includes Wing Zone 4 as defined in ASTM E1996. | | i ==} =0
i‘
4, For 2x stud framing construction, anchoring of these units shall be the Lol
same o5 that shown for 2x buck masorry consfructon. Bl
5. Sie conditions ot deviate from the detais of this drawing require
further engineering analysis by o licensed engineer or registered
grehitect,
TABLE OF CONTENTS
SHEET# | DESCRIPTION T T —
] Typical slevation, design pressures, & ganerci notes piref
2 Door pane detals L
3 Horizonta: cross sechions SR B & :
4 Vertical cross sections : INSWING | 3750 x 8200 | +65.0 | 700
5 uck and ame anchoring - 2% buck mosonty consiruciion S e T e T 08
6 Frame anchorng - | X buck mosonry construction OUTSWING | 37.50" 2 80.27" | +65.0 | -¢5.0
7 8l of matenais & components 1 TS SRR S (or e

AR . ——

P.O. Box 230 Valrice FL. 33585

Fhone No.: 813.8658.9187
Fluride Boord of Prafessionol Enginaars

Cartifizote Of .ﬂ-u2‘p__,‘zulior". No. §813
.%—-‘- e o

MHLDING CONSLURLTANTS, INC.

Doouwments Propared By

Lynden F. Schmidi, P.E. No. 43409

',\)8'
)
§ gl
| %9
% 0-‘-! &
:JLjD} .é
ges 2o
ol 6
280 S
IS U
Eé%‘?!l 4?}
e o9 &5
HES- E
=] f ?—“g
g |
o o
o H
1 3
n
i
H
f-
|
] E %
Ll e
a 7
! P>
P il
b ] %
i
bl
LLI
[
|
i

|
£l

NGO BATE

il 5
i
|

wiE: 3/5/08

sk fLTLS,

FLORIDA PRODUCT APPROVAL #6184.1

T e ———-

:-‘f e : -‘_. ;/"" I3 '_""! I"‘_ ‘, . ’-_e_ﬂl’:. : : -?7
i U E T R E L AR N
ior i N 1 ‘“‘ZL AR 5 oo e i
s 55 - :
& T ] ". l
R | semimien] ||
##: \ 1 e '." 'l‘
.:I' "_ \\ : s 4% 1[ !-'.
e T
T A/ Er \ :
'.r--'ﬂl/\ __r‘_.—f"’_"{:?'} o i “-"\f\;’ i 1..
F=< |
TYP. HEAD & JAMBS - ¥ (s
' SEENOTE | RUCK C
6 \
| ®
- T It _Tvp Heal
d i JAMEB
AN | |
BUCK i
l | FRAME —
- . . .\‘. —
E '\,\
iE
MASONRY -, _E'é MASONRY -
OPENING §% | OPENNG
S et ||
q“ — e ; ."', _:I‘
R e - s ——t
. L _:, d:‘ 4 g.dl_,‘_.l._ o \ o : o o \
e L .'- VL D L O T, & 8. TS [ A . ST
BUCK ANCHORING HINGE JAMB -
T
(21N,
S’
-",:‘.
NOTES: ~" %

1 1/4" Elco concrete screws anchoring 2x buck require o minimum 1" clecrance fo masenry edges, a 1-1/4° m:‘nin-.-e:‘_m'r
embedment-ond a minimum 4" cleorance fo adjacent concrete screws. Substifution ©f gaual concrete sCrews rem o

dlifferent suppller may have different edige distance and center disfance requirementis. Congrele screw ’o;ati.:-ns 4t e
camers may be adjusted to mgintain the minimum edge distarice fo mortar joints, If CONCTEN SCrEw 'ocations noted o
mAX. ON CENTER" must be adjusted to maintain the minimum edge distance to moriiar joints, aodifional concrate

screws may be required fo ensure the maximum on center dimension is not excesded.

== AT
ol Jig 2
f |
| t
N :
i 1
| i- i.
i a
o |
Lo !i@ +
| t >
= _____‘r_ o ] i
! |
0 {
35 ;
2a |
&
~|| =5
‘i
|
e i
ThAZ JAMB

STFIKE PLATE DETAIL

T
]
4

W RO LW BuiLDieD oINS TANTE TN,

3
n a \3
Ll =~ ]
e Ingy %
. My 3‘_
27 et
cod g
gom-'ﬁg'- 3
HEH &
LD
a’c e
. 538 By
é.u‘(ﬂslo&g
?J'_,{_;_z‘a.% d
._al'.lt h.
E‘ic:f?ga £
— 2
ﬁ;.ul.ﬂ.g'ﬁ .g
# 5%" %
Pl
B
ek
L4
g
=
0
|
& T
S of PR
u.l"“. Im
ugl O=
2
925 25
320 %
Fal
tei}{@é
E.%Eagu.m
3‘5&9?5:\‘6%
. LT
oz -
63 1§88
e
3 v B3
e (
af o ﬁ
t | p
0
| .:.‘

b
ER"
B
|t 12
Pl A
LB

; (4
1
{

RS
=
i l
 fld ! .1.9
| I B’
SRR P S E 4
i o
BRAR:
ok 8L |
souE - NLT.S.

M. AT DT

CHL &Y LJ':S
DRAWNG Na:

Fl.-6184.1

suger £ OF 7

0 2ooe 8.W, BUiLOiNEs CoNSUL

B - —

 —————— T ———

TANTES N

-1/ MIN,
LT EME. ITYP)

2-1/2" MIN. FROM
e MASONRY EDGE -~

{Tri.)
P
& ®

NIEROR

N

Ny :v\\\-'_\"
RN
N \k‘Q\\\
\‘\I\-\ N
NI

2-1/2" MIN. FROIM
MASONRY EDGE —»
{TYF.)

EXTERIOR
] /"3 "\ HORIZONTAL CROSS SECTION
! ' Shown w/1 X sub-buck sutsiiutin
1 \y cun::.re?a screws for wood screwg per
EMS. YR T _
N :
L S
i ! se | I W _;)fhK
| : Ny (TYP)
H E 5 r I ; m
¥ § i {
5 2 § )
2% A
b3 o
: < o
3 B )
| : Y NTEROR
_I - ;" T
| : RN
=‘ A .-
58 i¥ MRH TN
g~ T AR \lﬁ%
rgh oS 4 BN NN
23z i SRR
397 o SR\ 1) [ NN
< y 171 ‘ Q) \/é_]“\
T S i n N EXTERIOR
i f (8). 05
/ ST 1
) "
Fary
(1) 72\ HORIZONTAL CROSS SECTION
\ Outewing Shown - ingwing
\y alo aap'gf:-ved H

B
o ]

015"
CSINK —=
fiYe}

b
wieRor (BN | B

M,
EMB. (1YP.)
/

b

(TYP.)

1" MIN. FROM
ASONRY EDGE —e—w=

L

EXERICR

717\ HORIZONTAL CROSS SECTION

/ ‘jqi, ba
® @@‘3’\(®

1" MIN. FROM
- ea-. - MASOMRY EDGE =
(TYP.)

3 Quawing shown- nswing

akso approved

o Sy
2 5.8
g fg3?
SuR AN
CII:: ™
b%ﬁisim‘
PRI &
 Z303:QF
.6’@“;‘.5&5
ugéﬂ'ﬁa\“n
53 285
FResd: 3
s 2§t S
%e% ed
12
£
-
8:5 b
8= 1w
4§
n.% -
)‘En_ %
x T
g g

BY |

DATE

NO

REVISIONS.

: 9/5/08
SCNE:  NT.S.
oW B DT

CHE, BY: LFS

URMAG NOD.:
Ph“5184 1

e 3 oF 7

€ 20085 R.W. SUWLOING CONSULTANTSE (NG,

=~
BILL OF MATERIALS N G -
[TEM| DESCRIPTION MATERIAL : 3 138 S =
" TMASONRY - 3,192 PSi MIN. CONCRETE CONFORMING TO ACI CONCRETE H & . g3 ia% = S
' 1301 O HOLLOW BLOCK CONFORMING TO ASTM C70 - I O - ? LA
5 | 1 BUCKSG >= 055 7 WOOD 2 A Boasd) (==
3 [2XBUCKSG>=055 - WOOD - L Jl_ Egggg L o
"4 | /4 MAX SHIM SPACE D : 1 BRIt - |
™5 | 1/4 X233/ PFHELCO CONCRETE SCREW STEEL | FEENN: o | = o
5 | #1012-1f7 PFH WOOD SCREW STEEL ' ¥ir au == S
& | £9 « 34" PFH WOOD SCREW " an STEEL Hp_— Bl VR ggqﬁ 1 — |2 X
9 | DOOR SKIN [MIN. G078 THICK]. FBERGLASS ; r& chfpe g et =
cw! e D EeE oy Calel 1 5 D m
10 | INSWING VINYL JOOR BOTTON SWEEF BY ENDURA VINYL 2 = 4 - -
T0A || VINVLDOOR BOTIOM SWEEP 3626 67 HOLM IND. VNTL | (1) 23, POLY FBER JAMB tR &8 C s x
7 [[RENFORCEMENT WOOD FOR LOCK i WOOD § % . 7
12 || FINGER JOINTED PINE JAMS WOCD o™ QO | & =
3 1| £9 x2-|/4" PFHWOOD SCREW STEEL E 7 &
14 || BOTTOM RAIL CELLULAR PVC . el = =
75 TINSWING ADJUSTABLE THRESHOLD BY ENDURA ALLM, / WOOD g % ) > o
754 |INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP AUM. [ WOOD i e | £ e
75 | FORCES WEATHER STRIPPING. BY ENDURA FOAM E‘-g 2 55 = | S q
"T5A | COMPRESSION WEATHER STRIP GLON 650 BY SCHLEGEL e FOAM 9 =g — i3
77 TKWIKS KEVED EVIRY GRADE 2 STEEL n.%g- 58 — Q
T8 | KWIKSE DEADBOLT GRADE 2 STEEL S22 = a
70| POLYURETHANE FOAM BY NANYA POLYURETHANE 63 |3 W
20 |4 x £BUT HINGE ey STEEL 3
73 | POLY FIBER JAMB COMP. | VINYL g g
74 | HINGE & LATCH STILE CELLULAR PVC =
75 | TOPRAL CELLULARPVC T S i T —
7% | DFADBOLT STRIE PLATE & STEEL (28, QUISHING S THRESHOLD
27 | LATCH STRIKE PLATE _ STERL
% | QUTSWING BUMP THRESHOLD ALUM. / WOOD
257 | HNGE & LATCH STILE REINFORCEMEN] LVL
307 | 1/£ X 3-3/4" PFH ITW CONCRETE SCREW STEEL
311 149 x 1"PFH WOOD SCREW STEEL | s e 2
39 | 1/4" % 3-1/4" PFH TW CONCRETE SCREW STEEL r __,_i
75 |3/ 15" X 3-1/4 PFH W CONCREESCREW STEEL : .‘
"4 |Y0OR PANEL - SEE DOOR PANEL DETA'. SHEET FOR CONSTRUCTION DETAILS 2
o |3
<
1 \ADJUSTABLE INSWING SilL 8 13
3 |:
e g/5/08 |2
sue NJS. |3
ea— T
oK 8:  LFS g
DO 38 s | SHEET:
FL-6184.1 |8
707 |o

02-23-2009 UPDATED FOR 2007 CODES
6-16-09 REVISED FOR 2007 CODES

172
=
o
2]
S
<
=
15
]
BlI-
Ve
ac
o
[T
=
ggm
<T >
Q 3
§ <
(o]
= 3
(= =4
=T
| |2
wn
(=]
[« ]
@Ev
=
|| @Il
E %
%2*
M
S
o
{g

ED-0

FLORIDA BUILDING CODE 2007 : RESIDENTIAL




